
　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

أرقام التحليل الأولي للأرقام المكونة من 3

192 405

210 567

216 504

252 288

448 576
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　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

أرقام التحليل الأولي للأرقام المكونة من 3

192

= 2 × 2 × 2 × 2 × 2 × 2 × 3

405

= 3 × 3 × 3 × 3 × 5

210

= 2 × 3 × 5 × 7

567

= 3 × 3 × 3 × 3 × 7

216

= 2 × 2 × 2 × 3 × 3 × 3

504

= 2 × 2 × 2 × 3 × 3 × 7

252

= 2 × 2 × 3 × 3 × 7

288

= 2 × 2 × 2 × 2 × 2 × 3 × 3

448

= 2 × 2 × 2 × 2 × 2 × 2 × 7

576

= 2 × 2 × 2 × 2 × 2 × 2 × 3 × 3
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